Raices Cubicas (C)

Nombre: Fecha:

Calcule la raiz cubica de cada niimero.

/512000 = V512 = V8000 = _
V125000 = /343000 = /216 =
/64 = /27 = V2744 =
V15625 = V1331 = /3375 =
V125 = V64000 = V27000 =
V729 = VT = VB=__
V216000 = 1= J1000 =
V8= V3= /729000 =
Puntuacion:

/24
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Raices Cubicas (C) Respuestas

Nombre:

Fecha:

Calcule la raiz cubica de cada niimero.

v/512000 = 80

Vv/125000 = 50
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V216000 = 60

V1728 = 12

/512 =
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v/343000 = _70
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/1331 = 11

v/64000 = 40

v/8000 = 20
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/2744 = 14
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/3375 = 15
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/27000 = _30
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v/1000 = 10

Vv/729000 = 90

Puntuacion:

/24
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